
INSTALLATION 

CUSTOMER SERVICE 
877.370.3604 (toll free) 

 
INSTALLATION QUESTIONS 

techsupport@kuryakyn.com 
or call 715.247.2983 

 
LIMITED WARRANTY 

Küryakyn warrants that any Küryakyn products 
sold hereunder, shall be free of defects in   

materials and workmanship for a period of one 
(1) year from the date of purchase by the   

consumer excepting the following provisions: 
 

● Küryakyn shall have no obligation in the event 
the customer is unable to provide a receipt 

showing the date the customer purchased the 
product(s). 

 
●The product must be properly installed, 

 maintained and operated under 
normal conditions. 

 
●Küryakyn makes no warranty, expressed or 

implied, with respect to any gold plated  
products. 

 
●Küryakyn shall not be liable for any  

consequential and incidental damages, including 
labor and paint, resulting from failure of a 

Küryakyn product, failure to deliver, delay in 
delivery, delivery in nonconforming condition, or 

for any breech of contract or duty between 
Küryakyn and a customer. 

 
●Küryakyn products are often intended for use in 

specific applications. Küryakyn makes no  
warranty if a Küryakyn product is used in  

applications other than intended. 
 

●Küryakyn electrical products are warranted for 
one (1) year from the date of purchase by the 

consumer. L.E.D.’S contained in components of 
Küryakyn products will be warranted for defects 
in materials and workmanship for 3 years from 

the date of purchase where as all other       
components shall be warranted for one(1) year. 

This includes, but is not limited to; control  
modules, wiring, chrome & other components. 

 
●Küryakyn makes no warranty of any kind in 

regard to other manufacturer¹s products    
distributed by Küryakyn.  Küryakyn will pass on 

all warranties made by the manufacturer and 
where possible, will expedite the claim on behalf 
of the customer, but ultimately, responsibility for 
 disposition of the warranty claim lies 

with the manufacturer. 
 

ABOUT OUR CATALOG 
For purchasing Küryakyn® products, you 

can receive a complete catalog free of charge. 
Send the Proof-of-Purchase below with 

your address to: Küryakyn, P.O. Box 339,  
Somerset, WI 54025.  

Please indicate either Accessories Catalog for 
Harley-Davidson® or GL & Metric Cruisers. 

 
Be sure to ask your local dealer about other 

Küryakyn® products, the motorcycle parts and 
accessories designed for riders by riders. 

 
©2005 Küryakyn USA® All Rights reserved. 

 PARTS INCLUDED 
 2 Mud Flap Tips 
 2 Mud Flap Assemblies 
 2 Back Plates 
 2 Templates 
 1 Hardware Kit Containing: 
  6 #8-32 X 1/2” Hex Head Cap Screws 
  6 #8 Lock Washers 
 1 Installation Instructions 
 
Please read and understand entire instructions before starting installation.  
 

THANK YOU FOR CHOOSING KϋRYAKYN! 
 
IN ORDER TO PROTECT YOU AND OTHERS FROM POSSIBLE INJURY AND/OR 
PROPERTY DAMAGE OR LOSS, PLEASE PAY CLOSE ATTENTION TO ALL             
INSTRUCTIONS, WARNINGS, CAUTIONS AND ATTENTION NOTES REGARDING 
THE USE AND CARE OF THIS PRODUCT. 
 
ATTENTION! This indication alerts you to the fact that ignoring the contents         
  described herein may negatively affect product performance and   
  functionality. 
 
CAUTION! This indication alerts you to the fact that ignoring the contents 
  described herein can result in potential injury or material 
  damage. 
 
TOOLS SUGGESTED 
Set of Hex Wrenches, Center Punch, Drill and Drill Bits, Masking Tape, Tape Measure 
 
 
STRICTLY OBSERVE THE FOLLOWING GUIDELINES IN ORDER TO USE THE 
PRODUCT PROPERLY AND AVOID POTENTIALLY DANGEROUS ACCIDENTS.  
 
STEP 1 Read and understand all steps in the instructions before starting the  
  installation. Park the motorcycle on a hard, level surface and turn off the   
  ignition. 
 
 
 
STEP 2  Using masking tape, cover the bottom portion of each fender. PIC 1 
 
 
 
STEP 3  Using the tape measure, measure the rear of the fender. Using a  
  non-permanent marker, mark the center of the bottom of the fender. PIC 2 
  Repeat for the other fender.  
 
 
 
 

 
 

REAR MUD FLAPS for H-D TRIKES    7220 

7220-1HD-0412 

-cont.- 



PAGE 

2 

 
STEP 4  Line up the notch in the bottom of the template with the mark from Step 3. Line up the bottom of 
  the template with the bottom edge of the rear fender. Secure the template with 
  masking tape. PIC 3 Repeat for the other fender. 
 
 NOTE: Now step back from the Trike and look to make sure the templates are  
  lined up correctly side to side and top to bottom. Make any needed  
  adjustments to the templates. 
 
STEP 5  Mark the center of the three holes in each template on the each fender with a  
  center punch. PIC 3 
 
 NOTE: If replacing Harley Davidson mud flaps on the Trike, the bottom two holes 
  on each template should line up with the existing holes. 
 
CAUTION! MEASURE TWICE – DRILL ONCE. Double check all reference  
  marks made on the rear fenders BEFORE drilling. Kuryakyn will 
  not be responsible for incidental or consequential damages  
  resulting from this installation. 

 
CAUTION!  To prevent the tire from being punctured, place something (small 
  piece of wood) between the tire and fender. 
 
STEP 6  Using a 3/16” inch drill bit, carefully drill out all six holes. Carefully enlarge each 
  hole starting with a 1/4” bit, then a 5/16” bit and finish with a 3/8” bit. 
 
STEP 7  Remove the templates and masking tape from each fender. 
 
 NOTE: Kuryakyn recommends applying a clear coat (such as clear fingernail  
  polish) around the edges of the holes to help prevent paint chipping. 
 
STEP 8 Place one of the included Rubber Mud Flaps over the screw dowels on one of the 
  Rubber Mud Tips. Make sure all three dowels protrude through the Rubber Mud  
  Flap. PIC 4 
 
STEP 9  Place one of the included #8 Lock Washers on one of the supplied #8-32 X 1/2” 
  Hex Head Cap Screws and insert them through the top hole of one of the Back  
  Plates. PIC 5 Place the Hex Screw/Back Plate behind the rear fender and insert the
  threads through the top hole drilled in the fender. 
 
STEP 10 Thread the Hex Screw from Step 8 through the Rubber Mud Flap into the Mud Flap 
  Tip. Leave finger tight for now. 
 
STEP 11  Place an included #8 Lock Washer on two #8 Hex Screws and insert one of them 
  into each bottom hole of the Back Plate, through the fender and Rubber Mud Flap 
  and thread them into the Mud Flap Tip. Leave finger tight for now. Repeat  
  Steps 8-10 for the other side. 
 
ATTENTION! Determine the mounting location and orientation of the Mud Flap before 
  fully tightening the fasteners. The Mud Flaps may leave marks when  
  tightened down.  
 
STEP 12  Align each Mud Flap and tighten securely. 
 
ATTENTION! It is the installer’s responsibility to 
  ensure that all of the fasteners  
  (including pre-assembled) are  
  tightened before operation of the 
  motorcycle. Küryakyn will not issue a 
  warranty on components lost due to 
  improper installation. Periodic  
  maintenance may be required. 
  

Ride On! 
REAR MUD FLAPS FOR TRIKES   INSTALLATION 

PIC 1 

PIC 2 

PIC 3 

USE MASKING TAPE ON THE 
BOTTOM OF EACH FENDER 

MEASURE AND MARK THE 
CENTER OF THE FENDERS 

LINE UP TEMPLATE WITH BOTTOM EDGE OF 
FENDER CENTER NOTCH ON CENTER MARK 

MARK THESE THREE HOLES 

PIC 4 

MAKE SURE ALL THREE SCREW DOWELS 
PROTRUDE THROUGH MUD FLAP 

PIC 5 

#8 LOCK WASHER 
AND HEX SCREW 

BACK PLATE 

PIC 6 


